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August 15, 2019

Let's solve some quadratics. As you solve a variety of problems, think about the
different strategies as the structure of the problem changes. We will
summarize these strategies in notes after we've had some practice.

(n-10Xn-1)=0 2_11n+10=0

n

N-\1D=0 n-j:0
b
4X* _9x2 =243

2x7 —10=—-x*-1

(Oarm UP
Find the sdution

© FO0: ax*50

© =A%X*-50

@ FOO=Hxw)

@ eat O = Hxi100o
O - 3 2

3% 53 e

X*: a5

Solvmg Quadratic Equallons by Factoring

Solving Quadratic Equations by Factoring 9
1. Put the equation in ax *bx* c ’-O
3. Set each factor equal to zero and &} ‘M a
4. Check your answers!!! ( plvq baLb L. )
[Solve each equation.
1. x*—x-56=0 2. 8x+x*+7=0
(R-BYXX =0 X24+Rdy+1=0
-8:0 > v:-g (X_';'I XA =0
Xt720 -5 =1 ¥+1:20 w4t RH

(D Get the (x?)ov{avantits\squared by iEs4F:
@[S—G[uare. root )
® @

@ %?+u:0 ®—X+3“3
X*=-u = A

X = ¥ A\ \f’i-\l_é

W=+ NIg 332
£

Show your work. 3x2—51x-180=0

Finished problems
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Ticket out the door. Leave this problem on your board.
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Warm up: Multiply the following binomials
W(x +4)°

B)(x - 12)

) (X - 7)22

S %)

Solve by square

root method.

Solving Quadratic Equations by Taking the Square Root

olving Qi quations by Completing the Square
1. Getthe __orthe squared by ifself
2. Take the of BOTH sides of the equal sign
3. Don't forgetthe ____sign
4. Simplify
5. Check your answersl!!

j ‘ Finished problems

olve each equation.
1. (x+47-3=15 2. Meison
2

Solving Quadratic Equations by Completing the Square

ax’+bx+c=0
e “a"needstobe_ « “b" needs fo be

Find the value of c that makes the expression a perfect square trinomial.
1. 2. 3.

Write the perfect square frinomial as a binomial squared.
4. 5. 6.

Show your work.
—~ 0
wrklxid=
y"' +h)(+q-_-b‘*
(x ¥3)(x3)= B
(%t 3)"‘- = &
%43 = :@ n .

*»z=232(S
Finished problems

X2 +b6x+4=0
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(ox*-ay =-15

Ax2-7x -5

b:-1->2>ug>4g

ax? —-:x .u-s%_ = 9Yg

Fuc{vl\n*

Gx-Ax 4 15O
2e*- 1w 4 5,0
(ax- 8Xx- 1):0
Ax-S20 %

o)

ay’+bx+c He)
O\Y >4 bx S

e
Bf:owds g
QAx -'cbx—\--b—— = b’*—Hab
=y
A(x*+ B+ 1‘?\—1\ b2 :lac
o
o g -
X-\- Y
= b ac
S th

(o ©,
A

Xz -b Vg Taae
Qe

A% bx+c S

—_—  N—————

uodratic Formul o, Scratch

ax +bx—rc =O b2 V&V*;

ax*+bx+Es ~c 85 | HE~ B3

b"> b e d % —_> E\_Q b “Uac

ax? -\-bx-\- = b lac L\.o‘
Yoo

O(Xl-k%k

C\
“+ : :3 = plu Qe

Q
C\((X*%’-Q(x+—%a I
O (%~ £\ b2-uac

*33) ..
BWac

QQ-\-LS; = O a2

‘X—\-— : * VP Uac
T 0. Quod¥™

X<~ VB hac  -b+\{Eiuac
CI Ao don

CTquare:
Ex AxI*ox+ | =O a
Q\X -\-(OX'\'g": —\-l-a
b:e—>3>sa—> %
a(xq*?»k-\-%) - 2‘5
QAN+ = =
Q(X*-%’-‘—'- 72 V7 :E
) 'LT,' - Q2
(X-\-%)‘:j:\- VT_,_
Y'\%:-L\s—-j;_
X="2_y VI -3\
C D)
x?-Ax =-15
Gx2-AX +1B5=O
202 -Ix +5)=O
AX - I+ S50
Qx—sXx—1):0
'\
N—r

Uy +a8x=-Hg >T¢
Hy*428x+ua = "R B2 lac

b=2%214-=>19>49( iISa pe_rfcc,
Hy* 2B x+uq = O Soluare{-hen
L\(\(a‘-\--lx-t"&l\ ‘55‘:045(0«\&)\2,
H(x=+ l) o
&R0
Y+1 = O
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2=54 927
Xa:- |8 g:-—cl?')l_}
X=2\/8

—(X—H—l) —\ ~5
—'—( X—+1)
x-n-D"‘ = (8

X-H-\ = XT\0ie

(X=-n+a¢3)

A +Ax +9 = %2
Ya_")\y-l- a-=0

X2 +ax+| =-9+|
(¢ A D%+ = -8

(x+)* = -

X+\_ = + 20\ =
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~ =3
%Y a=-b -3+ &
= e - -2 .5
%xz 3 =

ComPleﬁrc the Square :

Ax+ Ux~ 15 =C
AxTaUlx +2 -7+
b-'-if->2'—~>L1’_>@
A(XFvax+)) = -5
A (X4 \Xx+D=-5
ALY =-5
¢+ \y -

K4\ —5

K= \"\'_é%— or -\'\"\Y-
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AX*Hbx+C =O >
ax +bx+ﬁ?‘ C+%a_
b— _b_——> ._: ——>-|_—G

QX -\bx-\-b— = bXtac
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8()('\"-\)1 1= 5
—'—(x—H—l) =
(x-u-\)

X+Yy-= -Laﬁ
X=-H4+ 3§35

0y - - QF:
(Z‘;,_ ?‘): _ _,55 | -
7\)(1.—.‘[5(-{-5:0 az2 b:_?_i
(3x-8YXX -~ D=0
’)\X'CS'-O =
o X'XE-%\
94
-2x*-3=-5
__g_x"__ -3
°x?: 3.5
o -3
X <8
=

5(x—u)" =125
(x-u)™ 35

X-41= 5 l-}+5-
Xx=Hxts5 T

Uy +7x =15 =O

(x—+2 ¥x —» =0
X+3=0 | UNa45=0
Hx-ﬁ-
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HyPaapx =4 O A+ T=X T ety the
)(a-l'axf'l = -9+ vare .
b=22>1—>1
(X+1Xx+D = -8
(X+)*= -9
X4\ = 2 AWD
Ticket out the door: Leave this problem on your board. S\ mAP\\Gg ; —l— \)’%
2£3VT 1\
H G35
. ENC
\£ W
)
AEa\-125 9,? A+ \J-160
)0 55 ]
Bt a-oi\s ° @&+t HWiJIo
1o A
S+ 10iUS _ +3N5E

10 x
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A4 3V-50
BT 3 - TiVx
CERALNED) a

2+ OVvae 4

2+ (2a5% ) 2
N

pre
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Solve:
9\)( 2 Bx + 10=O
= -5tVa5-4la0> b-5
20> we

- -5tv8ss

aXQ—Bx-\-'—l = XU % —
P—2x+ 5:=0 a= |

=-8
X = %t\lcoi-u(s) 2._5

X= Sivoo %*a\r‘\@

A% B x N = —°\+'7x x_-b«-m
- BxA 1x-+1 o

Q‘E_ _b 1 VB7HaD —» discriminant:

Y-\
b?-Hac £O b*-vac=0 | b-uac>y 0
(is neay.) Y_xad—l\gl sol.| A real sol.

2 CDN\?\Q_\L sol. - /aa.
(Not vean) l

EE-SCES | A
-G -G
%= ALANTT . e T S
= 3 = ¥
SmpliFy
-4x \J-le Y Yy
2 Q
= 2k A
e Em
S+ a3y “>2
— = L
S+ L (AVvT) DI
= A3
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¥ +13x-5=x3H4x | 2y*5y +7 =-10

O=X’*8x'\'5 — =
yl-@x4520 QFJ x="prfEHae

res
=\ b=-8 c=5 -
%! & s e A ax *+5% +17=O
%X = - 0=2 b=5 ¢c=17
X= -5 :\Jas -q(3w)

SR AN TN

2 “
X=Sta\‘\\ x-_"st\s-
—} DN =W\

-3xXx1=20
5x’~_x—|'—°
a3 b=-\ c=-I
X = l_*‘_— T-uc3)
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2 ( X 2=2x+1D X lox-t |

P
2 = Yy “-lex+
—lex+2
D‘Y 0= '),x"‘-\
a-.:} b=0O c=-\

Y= Ot o- HL‘;’

Y= 4R . +av3 L3
q

- -

“ )

o—,;{x’—\
! |=a¥a
=x2
>
- I
X=3% =
=&\
A

aF

¥ = -bxVb?-bac
A0

b?-Uac <o
LTS negoatwe

b-Uac =O |p*-Uae>O
| Real solutisn |3 realssl
en) A complex | (Which s rational) (vationa) of

Solutions| %= ~b/ ir vociond

N

-Lliag—aj.\ )

@)
-4 2 (V)
[
-4Hx 8\\‘_3

22
sl E}

/1
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AL V=100 A+ 0
o) 5

12X \N-a9¢ . I3tY4iVe
) 12

Q._F_:J AX 1_5)( +7= 4 X__—b:k_ B -Uac
=3 Axl-5x+5:=0 2a
bis  x~ S:VAEuGsS

C=5b Q
x= 5 XV

|

B3%2_ Ny —10=2Ax2 +5x
x*-l1ax -1D =0
¥ = '1i\l'm

R
X~ RAVIEE . 13t Ve

._“

QF © 36¢3+ax +1)= 5,(\_”“_,";)
2 = >y =
B
o= aAx*-13
2 X ~bAVETUac
o .
=-13 . O+t Vo-uc-aey

0Ty

L-\
X = ENTeH _+2V5e ,
Y [y =

Ux2-Tv+5=Ax1+7 -3y

MA-Ue-2=0
Y-au-1:=0
a:\ Soc atm _1.\;\!8—
b=_-? : S =22
e - 2tala

&

ar)
x=-P2Vb*uac
A0
b,'"\o.c L0 b:

Js negahve |\ rea.l sol.
Selvtians are ok “Lha

-lac : O |b?-Hac7r2
1S positwe.

A rea) solvhor

Compley
*NE Ceo ol s A \ 7

Ex Find the discfimant +dg,+omun¢
= Lhe numbper of real wlutiens:

D) 4xd+ G = 7
V) 3xP*eqAx-1=0
P Xiruxeu <0
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